
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Expansão polinomial

(3x + 5)(x + 2) − x + x + 12 2 (5x + 1)(2x − 5)(6x − 5)

(5x − 4)(6x − 5)(x − 3) (4x + 2x + 1)(4x + 2) + 4 × 3x − 12

(4x + 3)(5x − 6x + 2) + (3x − 4)(4x − 3)2 (x − 1)(2x − 4x + 6) + (5x − 4)(2x − 3)2

4x − (5 + 2x)(2x + 4)(5x + 4) (x − 2)(2x + 1) − 6x − 5x + 32 2

(2x − 5x − 2)(x + 6) − 1 × 3x + 42 (3x − 6)(2x − 4) + x + 2x + 32 2
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Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Expansão polinomial

(3x + 5)(x + 2) − x + x + 12 2

3x + 5x + 6x + 113 2

(5x + 1)(2x − 5)(6x − 5)

60x − 188x + 85x + 253 2

(5x − 4)(6x − 5)(x − 3)

30x − 139x + 167x − 603 2

(4x + 2x + 1)(4x + 2) + 4 × 3x − 12

16x + 16x + 20x + 13 2

(4x + 3)(5x − 6x + 2) + (3x − 4)(4x − 3)2

20x + 3x − 35x + 183 2

(x − 1)(2x − 4x + 6) + (5x − 4)(2x − 3)2

2x + 4x − 13x + 63 2

4x − (5 + 2x)(2x + 4)(5x + 4)

−20x − 106x − 168x − 803 2

(x − 2)(2x + 1) − 6x − 5x + 32 2

2x − 5x − 9x + 13 2

(2x − 5x − 2)(x + 6) − 1 × 3x + 42

2x + 7x − 35x − 83 2

(3x − 6)(2x − 4) + x + 2x + 32 2

6x − 11x − 10x + 273 2
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